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(A ) 11. The next bus will arrive
(A) at three o'clock (B) three o'clock (C) in three o'clock (D) on three o'clock
( ¢ ) 12. This stadium can hold
(A) much audience (B) many audiences (C) a large audience (D) much audiences

(A ) 13. We were fortunate enough to visit the Taroko National Park. It has . (A) many beautiful
landscapes (B) beautiful scenery that is much (C) many beautiful scenery (D) much beautiful sceneries
( A ) 14 whydon'tyou us? (A) go to the house party with  (B) go together the house party with
(C) go the house party with (D) together the house party with
( A ) 15 wesaw wild animals while on vacation.
(A) quite a few (B) quite much (C) quite some (D) quite many
D ) 16. Areyou the competition? (A) enter (B) gotoenter (C) going entering (D) going to enter

B ) 17. To pass the Teacher Qualification Examination, it is necessary

(A) studying hard (B) to study hard (C) hard study (D) to hard study

( ¢ ) 18. Since the rainstorm came , it did a lot of damage in the area.
(A) surprisingly (B) rapid (C) suddenly (D) in hurry

( D ) 19 Itisalready 3 o'clock. Can you time to catch the train?
(A) make in  (B) have enough (C) haveitin (D) make itin

( € ) 20. "Those students will perform the annual school play. * "Yes, it is for next week."
(A) due (B)time-tabled (C) scheduled (D) puton
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